VM 2013

Gruppe B

TNr.|Name 1({2(3|4]|5|6|7]8]>]PL
1 |Tim x|{ojJo|Jo|-[o]J]o] -0} 7
2 |Mika 1 x|1]|%|1|%|(1|1])16]1
3 |Jannik 110 x|1]%|1]|0]|1]1]4%n 3
4 Qulius 1|%|0o]| x| 0|11 +]4%] 4
5 |Leon + 10| % 1x]21]1]|1]5%] 2
6 |Lorenz 11%10f[0]O0| x| 21|1]3%5
7 IDennik f 1] O0O|[1f[0]O0]O0O]|x|[1]3]6
8 |Luis -loJo|l-(ofo]O|x]|oOo] 7
Runde 1

1-8 Tim - Luis -

2-7 Mika - Dennik 1:0

3-6 Jannik - Lorenz 1:.0

4-5 Julius - Leon 0:1

Runde 2

8-5 Luis - Leon 0:1

6-4 Lorenz - Julius 0:1

7-3 Dennik - Jannik 1:.0

1-2 Tim - Mika 0:1

Runde 3

2-8 Mika - Luis 1:.0

3-1 Jannik - Tim 1:0

4-7  Julius - Dennik 1:.0

5-6 Leon- Lorenz 1.0

Runde 4

8-6 Luis - Lorenz 0:1

7-5 Dennik - Leon 0:1

1-4 Tim - Julius 0:1

2-3  Mika - Jannik 1:0

Runde 5

3-8 Jannik - Luis 1:0

4-2  Julius - Mika YV

5-1 Leon-Tim +:-

6-7 Lorenz - Dennik 1:0

Runde 6

8-7 Luis - Dennik 0:1

1-6 Tim - Lorenz 0:1

2-5 Mika - Leon 1:0

3-4  Jannik - Julius 1:0

Runde 7

4-8 Julius - Luis +:-

5-3 Leon-Jannik YV

6-2 Lorenz - Mika %Ys

7-1 Dennik - Tim 1:0

Gruppe A

TNr.[Name 1{213]4]3>]|PL
1 |Christin | x [1%|01]10]3%] 2
2 |Oskar 0% x |11]01]3%] 3
3 |Robin 10|00 x (00O} 1] 4
4 |Yannis 0110|111 x1 411

Runde 1

1-4 Christin - Yannis 1:0

2-3  Oskar - Robin 1:0

Runde 2

4-3  Yannis - Robin 1:0

1-2  Christin - Oskar 1:0

Runde 3

2-4  Oskar - Yannis 0:1

3-1 Robin - Christin 1:0

Runde 4

4-1  Yannis - Christin 1:0

3-2  Robin - Oskar 0:1

Runde 5

3-4 Robin - Yannis 0:1

2-1 Oskar - Christin Ya:Va

Runde 6

4-2  Yannis - Oskar 0:1

1-3  Christin - Robin 1:0




